
 1" DIA. HOLE 

 .343" THRU-HOLE 

 .6
25

" D
O

W
N

 

HEX-HEAD BOLT

.875" FLAT WASHERS

ULTIMATE BUNK
BOARD

EXISTING BRACKET

LOCK WASHER

HEX NUT

HEX-HEAD BOLT FLAT-WASHER HEX NUT

TOP MOUNT INSTALATION INSTRUCTIONS

IK-202 HARDWARE KIT

LOCK WASHER

IK-201 DRILL BIT KIT 

1" WIDE FLAT SPADE BIT .343" DRILL BIT

1.  MEASURE  AND MARK THE MOUNTING HOLE LOCATIONS 
THAT MATCH THE TRAILER MOUNTING PLATE. MAKE SURE TO 
POSITION THE MEW BOARDS, THE SAME AS THE OLD BOARDS.
2.  USING A 1" WIDE "SPADE-BIT" COUNTER-BORE THE TOPS OF 
THE BOARDS APPROXIMATELY 5/8" DEEP.
3.  USING A .343" DRILL BIT, DRILL A THRU-HOLE, THROUGH THE 
CENTER OF THE COUNTER-BORE.
4.  USE A 5/16-18 x 1-1/2" HEX-HEAD BOLT, ALONG WITH A 7/8"  
WIDE FLAT WASHER UNDER THE HEAD OF THE BOLT
5.  ATTACH WITH A 5/16-18 HEX NUT AND A LOCK WASHER.

1 5/16-18x1-3/4 S.S.HEX-HEAD BOLT 2
2 5/16x7/8 S.S. FLAT WASHER 4
3 BOARD 1
4 EXISTING BRACKET 1
5 5/16 S.S. LOCK WASHER 2
6 5/16-18 S.S. HEX NUT 2

UBB-MOUNT COUNTER BORE

SHEET 1 OF 1SCALE: 1:5

INTL. JL 8-30-17
CHOICE EQUIPMENT CO. INC.
5974 US HWY. 129 N. UNIT O
PENDERGRASS GA. 30567


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


